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3.6 #6

Use a computer algebra system to graph fand to find f"and F*. Use graphs of these derivatives to find the following. (Enter your answers using interv|

notation. Round your ans:ers to two decimal places.) _F‘I( ) - y(,r +|o*'1 (WA \3 ""(,x” —13'7—1)
flx) = X2+ 5at + 1 X N
et -xts2 (3’14—X3-y1' i-"b)

The intervals where the function is increasing.
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The intervals where the function is decreasing.
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The local maximum values of the function. (Enter your answers as a comma-separated list.)
_ 4 e =22
Ax) = | 7.49,2.35 F£(M= T
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The local minimum values of the function. (Enter your answers as a comma-separated list.)

A=) = % __u_u.',li_u_.'.

The inflection points of the function.
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The intervals where the function is concave up.
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8. + 10 points

Use a computer algebra system to graph fand to find £ and . Use graphs of these derivatives to find the following.

fix) = v x + 5 5in{x) X< 20 J"‘+‘U‘V"@ af -A-C/Jtc M-G)t Ja.aoqq
s ¢ co~cavily, (arckuw-aa—pﬂut Mo‘& o)

#g £G:)= | *+Sexlx) tpf-p) EX(N—S‘w—CQ’o}?
o =D(f) Caraph 3y
S ._.C 3 -cos| ) el N&: x4+ &)

W x+ 5-sin| ] X ey,
solve( fp(x) =0) dpSL" é‘q/uplws
,ﬂﬂ" ~arctan( 2 \"? } + 7, arctan( 2 \.'T } —n Qj"
- +3eas() =0
anccos (- ‘;-) e ' J;:\S-I"oo:o )

G|N 1)
| AT+ mcm;(—g- X gy NG cosX)= T =
AT- qncc.n!(';")

T - ouwcess (‘ '\i')
(7 - onccos (‘ l_é\

-1.772154248




211025-notes.notebook

October 25, 2021

g “
wle U, -
N9
2
10 108 2077
ke
ﬂ”ﬂ o7
~20 ' ~10 S 10 20
st 7Y
_ln.-
20 rﬂ
4."“5;
(Ca
» 2)
4 LOP’




211025-notes.notebook October 25, 2021

;Nao [ Sgl -‘*6
Mow dr “ https://www.wolframalpha.com/
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@https://harryzaims.com/ 122/videos/chapter-02/test-2/cheat-sheet-test-2.pdf

Trig Identities: Have these at your fingertips! Review your Trig!

Ownership of the knowledge is another level from completing an assignment.



https://www.wolframalpha.com/
https://harryzaims.com/122/videos/chapter-02/test-2/cheat-sheet-test-2.pdf
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3.7 - Nothing new, really. Just applications of knowledge already gained.
3.8 - Very Cool - Newton's.
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